The Lunes of Hippocrates

The students will discover the relationship between the area of the lunes
and the area of the right triangle used to create the lunes.

Objective:

Send all the students the tns file Lunes of Hippocrates.

1. There are 4 ways your students could convince you that AABC is a right triangle.
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Explain your
method below.

| measured the
sides of the
triangle and used
the Pythagorean
theorem.

Show your method.

Explain your

a%+b2 16.2736

2 16.2736
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Explain your
method below.

| measured
/_CAB and
/_ABC and added
them.

Show your method.

A 30.8243°

method below.

| measured
/_ACB and saw
that it was a right
angle.

Show your method.
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method below.

| found the slope
of line AC and BC
and multiplied
them to show

Explain your
they equaled -1.

2. The figure the students create should look like this:
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segment AB.
Let E be the
midpoint of
segment BC.
Let F be the
midpoint of
segment AC.

* Create the

Al 0 _ 1l _a
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3. The students should discover that the area of the lunes is the same as the area of the triangle.

PEHENLEYHOE W

5E+5F—(.5D—TRI) 17.70021

24.5824 cm?

14.4761 cm?

10.1063"cm?

4. The relationship doesn’t hold for other kinds of triangles.

5. Proof:
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Area of triangle ABC = % AC * BC

Area of the Lunes =
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6. Encourage your students to investigate other historical geometric figures.
The Wheel of Theodorus
The Lute of Pythagoras



